16 Lecture- CS304

| mportant Mcqgs

1. Which keyword is used to overload operators in C++?
a. override
b. overload
c. friend
d. operator
Answer: d

Which of the following operators cannot be overloaded in C++?
a. +

b. &&

C.=

d. ->

Answer: d

Which of the following is a unary operator?
a. +

b. ++

C. <<

d. -

Answer: d

Which of the following is used to overload the subscript operator?
a. []
b. ()
c. {}

d. <>
Answer: a

Which of the following is used to overload the insertion operator for cout?
a. <<

b. >>

C.:

d. ->

Answer: a

Which of the following is used to overload the prefix increment operator?
a. ++

b. --

C_ ——

d./

Answer: a

Which of the following operators has the highest precedence?



a. ||
b. *
c.l=
d. +
Answer: b

Which of the following is a binary operator?
a.!

b. A

s

d. &&

Answer: b

Which of the following is a comparison operator?
a.!

b. +

C. <

d. &

Answer: c

Which of the following is used to overload the addition operator?
a. &&

b. |

c.”

d. +

Answer: d



